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1) Raymond Gygax
Tages-Anzeiger 2007
1.Tf4! (5)

2) Markus Ott
2.palk. idee & form 1998-99
1.Dd4/De4/Dd5/Dc5?  1..Rf7/Txg5/Dal/Db5!
1.LcS! (5)

3) Leopold Szwedowski
1. comm. Mem. Pongracza 1970
1.Ld2!
(> 2.Rh4+ K~~ 3 .Rxf3#)
1..Le5+ 2.Rd4+ Kxd4 3.e3#
1..Lxe2 2.Re7+ K~~ 3.Rxc6#
1..Rd6 2.Rg3+ K~~ 3.Dxg7#
(1,5>2,5>4>5)

4) J.Pospisil
1.palk. Deutscher Schachbund 1889
1.Th4!
(> 2.Le4+ Lxed/Ke5 3.Dxed4/Dal#)
1..c4 2.Dxc4+
1..Ke5 2.Th5+ Kf6/Rf5 3.Dh4/Txf5#
1..Rf5 2.L£f7+ Ke5 3. Rxd7#
1..Rg4 2.Th5+ Re5 3.L{7#
1..Rf6 2.Td4+ cxd4/Ke5 3.Db5/f4#
1..Rxf8 2.Te4 ~~/Lxe4/c4 3.Da8/Dxed/Dxc4#
(1>1,5>2>3>35>4,5>5)

5) Wolfgang Pauly
2.palk. Tidskrift for Schack 1913
1.Te3!
1..Kc5 2.1Lf4 Kd4 3.Le2 Kxe4 4.Tc4#
1..KeS 2.Rf5 Kxe4 3.Le6 Ke5 4. Te3#
1..Kxe4 2.L.d5+ Ke5 3.Le7 Kf4/Kd4 4.L.d6/Lfo#
(1,5>3,5>5)

6) L.Soroka, E.Gavrilov
diagrammes 1993

1.g5!

(> 2.Lxh3 Txe4 3.Lf1+ Te2 4.Lxe2#)

1..Te6 2.Rxc5+ Rxc5 3.Rb4+ Kxc4/axb4
4.Db5/Dd5#

1..Le6 2.Rf4+ Rxf4 3.Rf2+ Kxc4/Lx{2 4.Ded#

1..Rf2+ 2.Rxf2+ Lxf2 3.Rf4+ Kxc4 4.Db5#

(1,5>2,5>4>5)

7) Hillel Aloni
2.HM Sahs 1960

1.h5 (1) Rxh5
(1...Rxe8 2.h6 Rd6 3.h7 Rf7 4.Rh6+)
2.Rh6+ Khd 3.Rf5+ Kg4 4.Re3+ Khd
5.Rg2+ Kgd 6.Ld7# (4)

8) Yehuda Hoch
4.sija 1. WCCT 1972-75

1.Ta6+ (1) Rxa6 2.Rc6+ Kb6 3.Rxa5 h1D
4.Lc6+ (1) Rb4+

(4...Kxa5 5.Lxh1 Kxa4 6.Lc6+ Ka5 7.Tb5+ nKa4
8. Tg5+)

5.Txb4+ (1) Kxa5 6.Tb5+ Kxa4 7.1.d7 (1) Dh3
8.Tf5+ Kb4 9.Tf4+ (1)

9) C.J.Feather
Broodings-2 2001
1.Kf5+ Re3 2.1.d4 Dxgd#
1.Ke6+ Th2 2.Lc3 Dc8#
2x2,5)

10) Kostas Prentos
2.palk. StrateGems 2012
1..Rd4 2.Th2 Lb5 3.Kh3 Re6 4.Dg3 Ld7
5.Th4 Rf4#
1..Lh3+ 2.Kh5 Lf5 3.Th4 Lc2 4.Dg5 Ld1
5.Thé Rf4#
(2x2,5)

11) M.Nejman
1.palk. K.Betins MT 1968
1.Dxb5!
1.~~ /e1D(T)+/Dad(xa6)/Le3/Lc5/Lc7+/Td4
2.Dd5+/Re3+/Ra5+/Rd2+/Dxd7+/Rd6+/Txf3+
1>15>2>3>35>45>5)

12) Eugene Fomichev
4.palk StrateGems 2009

1.Rf8! (--)
1..b4 2.Tcd+ Kd6 3.Df4+ Te5 4.Tc6+ Kd5
5.Dxd4+ Rxd4#
1..La2 2.Txa6+ Kc5 3.Re6+ Lxe6 4.Tc6+ Kd5
5.Df5+ Lxf5#
2x2)5)




Problems Difficulty (16 Solvers)

ID| Tag |Average|S(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
12| S#5 0.31 1 0 3 12
6| #4 0.81 1 2 2 11
5| #4 1.03 3 1 5 7
8| + 1.25 2 7 4 3
41 #3 1.38 2 3 5 6
3| #3 1.94 3 4 1 8
10|H#4.5] 2.50 8 0 1 7
11| S#2 | 2.78 1 12 1 2
O| H#2 | 4.22 13 1 0 2
1| #2 4.38 14 0 2 0
21 #2 4.38 14 0 2 0
71 + 4.44 14 1 0 1




